@ '":: Aritmetik for heltalsexponenter

namn: Datum: Poiing:
SUNNGOR 6" 7=

6> +(—10) = 2—(-1)=
¥-1- 7’ +(-5) =
(=9 +(-9) = (4" + (-4 =
(5 +(=9) = (=5)° +(-10) =
4-(-1)= 9° +3 =
6+8= £ +6=
(—8)+7= £ —(-3)=
(-3 +5= (—10)° +7 =
(27 = (-1 = 7 —(~4) =
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@ Aritmetik for heltalsexponenter

namn: Datum: Pofing:
(=7)* = (=7) = (-336) 6> —7=29

6% + (—10) = 26 1>-(-D=2
£2-1=15 (=7)° +(=5) = (-348)
(—9)? +(-9) =72 (—4) + (—4) = (-68)
(—5)° +(-9) = (—134) (—5)° +(—10) = (-135)
4—-(-1)=>5 92 +3 =84

6+8=14 £ +6=170
(—-8)+7=(-1) 4 —(-3)=67

(-3 +5=14 (—10) +7 = (-993)
(-2 - (-1)=5 9% — (—4) = 85
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